0]

d
dsqrt{d
o

5} [Pb.GeV]
lSoo

=
o
N

Ratio to ATLAS

1072
1073
107

107

0.5

Pythia 6.428 z2

8000 GeV pp Z (Drell-Yan)
EI T TTI | I I T T TTT | I I T T TTT | I I T T T
_ Splitting scale\/dﬁ0 (71 <m <111 GeV) -
g_ r_-"ﬂq _g
L m ATLAS _
= -+~ Pythia 6.428 355 =
- & Pythia 6.428 356 ]
= —A— Pythia 6.428 370 =
~ Pythia 6.428 379 7]
= Pythia 6.428 ambtl =

Lrc b b

1 1 1 II--III|

0 10
sqgrt{d_0} [GeV]

Rivet 3.1.10, = 2M events

mcplots.cern.ch [arXiv:1306.3436]

N

—0.5

3



	Contents
	Page 1


